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General Instructions to Candidates : 
• There is a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs. 
• You are not allowed to write your answers nor to discuss anything with others 

during the ‘cool-off time’. 
• Use the ‘cool-off time’ to get familiar with questions and to plan your answers. 
• Read questions carefully before answering. 
• All questions are compulsory and only internal choice is allowed. 
• When you select a question, all the sub-questions must be answered from the same 

question itself. 
• Calculations, Figures and Graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
• Give equations wherever necessary. 
• Electronic devices except non-programmable calculators are not allowed in the 

Examination Hall. 
œ°Ü¶Í«Äà : 

• œ°ÜÍ°û ­£¤Ì°œ ̧ã²¦µ£ 15 £°œ°Ý ̧‘‰³à ˆ¯ý ̧µµ“¹’ „Ê¯¤°¥°¾²¹.  ƒ· 

­£¤Ì ̧¶ü¯š»Äà¾¸ „Ì¥¹ †©²˜¯¶œ¯, £Ý²¨¨ª¥²£¯¤° ‚«¤ª°œ°£¤¹ 

œ“Ì¯¶œ¯ ã¯“°ß. 

• „Ì¥Äà †©²˜²Ò˜°œ ̧£²Ø¸ ¶ü¯š»Äà ½«Î¯ã³Üâ¹ ª¯¤°¾—¹. 

• †ß¯ ¶ü¯š»Äà¾²¹ „Ì¥¹ †©²˜—¹. 

• ˆ¥² ¶ü¯š»œØÜ „Ì¥µ£©²˜¯Ï µ˜¥µÇ“²Ì² ‰©°Ç¯Þ 

„ã¶ü¯š»Ä¨²¹ ¿¶˜ ¶ü¯š»œØ¥°Þ œ°Ò¸ ˜µÒ µ˜¥µÇ“²¶¾Ê˜¯—.̧ 

• ‰—¾¸ ‰³È§²‰à, ü°½˜Äà, ½‹¯ý²‰à †Ò°ª „Ì¥¶ãÔ¦°Þ ˜µÒ 

„Ê¯¤°¥°¾—¹. 

• ¶ü¯š»Äà £§¤¯¨Ì°§²¹ œÞ‰°¤°È²Ê.̧ 

• ‚ª«»£²á ð§Ì ̧­£ª¯‰»Äà µ‰¯“²¾—¹. 

• ¶½ã¯½‹¯£²‰à µüÛ¯œ¯‰¯Ì ‰¯Þ¾²¶§Ý¦²‰à ˆ©°µ‰¤²á ˆ¥² 

ƒ§‰¶̧½“¯—°‰¸ „ã‰¥—ª²¹ ã¥±À¯®¯¨°Þ „ã¶¤¯‹°¾²ª¯Ï ã¯“°ß. 
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1. (a) Choose the correct answer : 

  If y = 2x2 + 4x – 5, d2y/dx2 is equal to 

  (a) 2 

  (b) 5 

  (c) 4 

  (d) 0 

 (b) A curve is represented by the equation  f(x) = 2x2 + 1. What will be the area of the 
region bounded by the curve from X = 2 to X = 4 ?   (Scores : 4) 

 

2. Choose the correct answer : 

 Yield of paddy and the amount of fertilizers used for its cultivation are variables with       

  (a) No correlation 

  (b) Positive correlation  

  (c) Negative correlation 

  (d) None of the above  (Score : 1) 

 

3. The following table gives the ranks obtained by 8 participants in music and dance 
competitions. Find the Rank Correlation coefficient and comment on the same.  

Contestant 1 2 3 4 5 6 7 8  

Music 1 5 7 8 3 4 2 6  

Dance 2 4 8 6 3 5 1 7                                          (Scores : 4) 

 

4. Choose the correct answer : 

 Regression analysis is the measure of _______ of relationship between variables. 

  (a) Nature 

  (b) Independence 

  (c) Cause and Effect 

  (d) None of the above (Score : 1) 
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1. (a) «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

  y = 2x2 + 4x – 5 ‚µ—Ã°Þ,  d2y/dx2 = 

  (a) 2 

  (b) 5 

  (c) 4 

  (d) 0 

 (b) X = 2 £²˜Þ X = 4 ªµ¥ f(x) = 2x2 + 1 †Ò curve bound µüÛ²Ò ¢¯‹Ì°µú 

area ‰Ê²ã°“°¾²‰.   (Ÿ¶̧‰¯ÜŸ̧  : 4) 

 

2. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 „˜̧ã¯š°Ô°¾µÔ“²Ò µœß°µú ¿¨ª²¹ ¿˜°œ¯¤° „ã¶¤¯‹°Å ª¨Ì°µú 

¿¨ª²¹ ˜Ù°Þ       

 (a) Correlation ƒß 

 (b) Positive correlation  

 (c) Negative correlation 

 (d) ƒªµ¤¯Ò²¹ ¿ß  (Ÿ¶̧‰¯Ü : 1) 

 

3. ã¯È,̧ •¯ÏŸ ̧£˜Ÿ̧¥Ä¨°Þ ãµÃ“²Ì 8 £˜̧Ÿ¥¯Ü˜¸™°‰¨²µ“ ¦¯Ã²‰à ü²ªµ“ 

¶üÜ¾²Ò². ƒª ˜Ù°Þ „á ¦¯Ã̧ correlation coefficient ‰Ê²ã°“°¾²‰. 

¿¶˜ÔÝ°¤²á œ°Ä¨²µ“ ¿¢°½ã¯¤¹ †©²˜²‰.  
Contestant 1 2 3 4 5 6 7 8  

Music 1 5 7 8 3 4 2 6  

Dance 2 4 8 6 3 5 1 7                                  (Ÿ¶̧‰¯ÜŸ ̧ : 4) 

 

4. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 Regression analysis variables ˜Ù°Þ „á _______ ¿¨¾²Ò². 

 (a) Nature 

 (b) Independence 

 (c) Cause and Effect 

 (d) ƒªµ¤¯Ò²¹ ¿ß  (Ÿ¶̧‰¯Ü : 1) 
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5. If the means of the variables X and Y are 50 and 30 respectively with standard 

deviations 5 and 2, obtain the regression equation X on Y, if their correlation 

coefficient is 0.7.  (Scores : 3) 

 

6. Choose the correct answer : 

 If X represents the number of students in a class in a year, X is a  

 (a) Continuous Random Variable 

 (b) Index Number 

 (c) Discrete Random Variable 

 (d) Time Series (Score : 1) 

 

Answer any one question from 7 and 8 : 

7. X has a Binomial Distribution with n = 10 and p = 0.25. Write the pdf of X and find its 

mean and variance. 

OR 

8. The number of accidents in a city for 40 consecutive days are given below :   

No. of Accidents 0 1 2 3 4 5 

No. of Days 25 8 5 1 1 0 

 Assuming Poisson distribution, write the probability density function of X and find the 

probability that 3 accidents happen per day. (Scores : 3) 
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5. X, Y †Ò ¥Ê² variables µú Mean, 50 „¹ 30 „¹ ¿ª¤²µ“ standard deviations        

5 „¹ 2 „¹ ‚‰²Ò². ¿ª ˜Ù°Þ „á correlation coefficient 0.7 ‚µ—Ã°Þ X on 

Y regression line-µú equation †Ð ̧?    (Ÿ¶̧‰¯ÜŸ̧  : 3) 

 

6. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ˆ¥² ªÜ¬¹ ˆ¥² ‰ÿ̄ æ°Þ ã”°¾²Ò ‰²È°‰¨²µ“ †Ë£¯—̧ ‘X’ †Ã°Þ X ˆ¥² 

_____ ‚—̧.  

 (a) Continuous Random Variable 

 (b) Index Number 

 (c) Discrete Random Variable 

 (d) Time Series (Ÿ¶̧‰¯Ü : 1) 

 

 7, 8 ¶ü¯š»Ä¨°Þ ‡µ˜Ã°§²¹ ˆÒ ̧†©²˜²‰. 

 

7. n = 10 „¹ p = 0.25 „¹ „á ˆ¥² Binomial Distribution ‚—̧ ‘X’ †Ã°Þ ¿˜°µú 

pdf, mean, variance ƒª ‰Ê²ã°“°¾²‰.  

¿µßÃ°Þ 

8. 40 ¿“²Ì“²Ì š°œÄ¨°Þ ˆ¥² city-¤°µ§ accidents-µú †Ë¹ ü²ªµ“ 

¶üÜ¾²Ò² :   

No. of Accidents 0 1 2 3 4 5 

No. of Days 25 8 5 1 1 0 

 ƒ˜̧ ˆ¥² Poisson distribution follow µüÛ²Ò²µªÃ°Þ ¿˜°µú pdf „¹ ˆ¥² š°ªŸ¹ 

3 accidents „Ê¯ª²Ò˜°œ²á probability-¤²¹ ‰Ê²ã°“°¾²‰. (Ÿ¶̧‰¯ÜŸ̧  : 3) 
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9. Choose the correct answer : 

 If E(X) = 2; then E(2X – 4) = _______. 

 (a) 2 

 (b) 4 

 (c) 7 

 (d) 0   (Score : 1) 

 

10. If f(x) = kx – 2 for 0 < x < 2, for what value of k will f(x) be a probability density 
function.   (Scores : 3) 

 

11. Choose the correct answer : 

 Which of the following situations will give rise to a Binomial distribution ? 

 (a) Ten students are writing an exam and X is the number of students passing it. 

 (b) X is the number of occurrences of brain cancer in a district per year. 

 (c) X is the Per Capita Income of a person in India. 

 (d) None of the above (Score : 1) 

 

12. Choose the correct answer : 

 The Z score corresponding to a Normal variable X, with mean ‘m’ and SD ‘s’ is           
Z = (X/2) – 5. Then the values of ‘m’ and ‘s’ are _______ and _______ respectively. 

 (a) 2, 5 

 (b) 5, 2 

 (c) 10, 2 

 (d) 2, 10   (Score : 1) 

 

13. It has been observed that the life of a television set follows the Normal distribution with 
mean 8 years and standard deviation 3. If a batch of ten television sets are tested, find 
the expected number of television sets having life less than six years. (Scores : 3) 
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9. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 E(X) = 2 ‚µ—Ã°Þ E(2X – 4) = _______. 

 (a) 2 

 (b) 4 

 (c) 7 

 (d) 0   (Ÿ¶̧‰¯Ü : 1) 

 

10. f(x) = kx – 2, 0 < x < 2 ˆ¥² pdf ‚‰¯œ¯¤° k-¤²µ“ value ‰Ê²ã°“°¾²‰.  

     (Ÿ¶̧‰¯ÜŸ̧  : 3) 

 

11. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ƒª¤°Þ ‡˜¯— ̧ˆ¥² Binomial distribution ‚‰²Ò ¸̃ ? 

 (a) ãÌ²‰²È°‰à ã¥±À †©²˜²Ò˜°Þ ×¤°¾²Ò ‰²È°‰¨²µ“ †Ë¹ – X 

 (b) ˆ¥² ×°ß¤°Þ ˆ¥² ªÜ¬¹ „Ê¯‰²Ò brain cancer ¶¥¯‹°‰¨²µ“ †Ë¹ – X 

 (c) ˆ¥² ƒÐ»¯¾¯¥µú Per Capita Income – X 

 (d) ƒªµ¤¯Ò²¹ ¿ß  (Ÿ¶̧‰¯Ü : 1) 

 

12. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ‘m’ mean „¹  ‘s’ SD-„¹ „á ˆ¥² Normal variable X-µú Z score,  Z = (X/2) – 5 
‚—.̧ ‘m’ _______ ‘s’ _______ . 

 (a) 2, 5 

 (b) 5, 2 

 (c) 10, 2 

 (d) 2, 10   (Ÿ¶̧‰¯Ü : 1) 

 

13. ˆ¥² television set-µú «¥¯«¥° ‚¤²æ ̧8 ªÜ¬ª²¹ SD 3-„¹ ‚—.̧ ãÌ² TV sets 
ã¥°¶«¯›°Å˜°Þ ‚¦² ªÜ¬Ì°Þ ‰²¦ª¸ ‚¤²æ² ª¥²Ò˜°µú expected †Ë¹ 

‰Ê²ã°“°¾²‰. (Ÿ¶̧‰¯ÜŸ̧  : 3) 
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14. Choose the correct answer : 

 A normal curve is _______. 

  (a) Symmetric 
  (b) Mesokurtic 
  (c) Bell shaped 
  (d) All of the above (Score : 1) 

 

15. (a) What do you mean by a parameter ? Give two examples. (Scores : 2) 

 (b) Match the following :  

 (a) Chi-square Distribution  (1) Mean equal to degrees of freedom 

 (b) Normal Distribution  (2) Mean always zero (0) 

 (c) F distribution  (3) Symmetric about mean 

 (d) Students’ ‘t’ distribution  (4) Used to test three or more means 

     (Scores : 2) 

 

16. If a sample of size 2 is taken from the population 2, 3, 4, without replacement, show 
that the sample mean is an unbiased estimate of the population mean. (Scores : 2) 

 

17. (a) The _______ is a sufficient estimator of the population mean. 

 (b) Choose the correct answer : 

  A good estimator should be _______. 

  (a) Consistent 
  (b) Sufficient 
  (c) Efficient 
  (d) All of the above (Scores : 2) 

 

18. If the probability of type two error of a test of hypothesis is 0.04, the power of the        
test is _______. (Score : 1) 
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14. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ˆ¥² normal curve  _______ ‚—̧. 

 (a) Symmetric 
 (b) Mesokurtic 
 (c) Bell shaped 
 (d) £²‰¨°Þ ã¦Çªµ¤ß¯¹ (Ÿ¶̧‰¯Ü : 1) 

 
15. (a) ‘ã¥¯£±ÝÜ’ †Ò¯Þ †Ð ̧ ?  ¥Ê ̧„š¯®¥—Äà œ§‰̧²‰. (Ÿ¶̧‰¯ÜŸ̧  : 2) 

 (b) ¶ü¥²¹ã“° ¶üÜ¾²‰ :  

 (a) Chi-square •°Ÿ½̧“°¡»³¬Ï (1) Mean „¹ degrees of freedom-ª²¹ 

˜²§»¹. 

 (b) Normal •°Ÿ½̧“°¡»³¬Ï  (2) Mean †¶Ô¯©²¹ zero (0) 

 (c) F •°Ÿ½̧“°¡»³¬Ï  (3) ‘Mean’ Þ Symmetric ‚—̧ 

 (d) Students’ ‘t’ •°Ÿ½̧“°¡»³¬Ï (4) £³¶Ò¯, £³Ò°Þ ‰³“²˜¶§¯ 

means-µœ test µüÛ¯Ï 

„ã¶¤¯‹°¾²Ò². 

     (Ÿ¶̧‰¯ÜŸ̧  : 2) 

 
16. 2, 3, 4 †Ò ˆ¥² population Þ œ°Ò²¹ ‘2’ size „á sample ‘without replacement’ 

¥±˜°¤°Þ †“²¾²Ò². ‘Sample mean’ population mean-µú unbiased estimate ‚— ¸ 

†Ò¸ ‰¯—°¾²‰.  (Ÿ¶̧‰¯ÜŸ̧  : 2) 

 
17. (a) _______ population mean µú sufficient estimator ‚—.̧ 

 (b) «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

  ˆ¥² œß estimator _______ ‚—.̧ 

  (a) Consistent 
  (b) Sufficient 
  (c) Efficient 
  (d) £²‰¨°Þ ã¦Çªµ¤ß¯¹ (Ÿ¶̧‰¯ÜŸ̧  : 2) 

 
18. ˆ¥² test µú type II error µú probability 0.04 ‚—.̧ †Ã°Þ ‚ test-µú                  

power = ________.  (Ÿ¶̧‰¯Ü : 1) 
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Answer any one question from 19 & 20 : 

19. In a questionnaire survey conducted among students to know their interest in subjects, 
the following responses were got to the questions : 

 (a) Do you like maths ? 
 (b) Do you like physics ?   

Question (b) 
Question (a) 

Yes            No 
Total 

Yes 56 28 84 

No 10 6 16 

Total 66 37 100 

 Can you infer that the interest shown by students to the two subjects are independent ? 

     (Scores : 4) 

OR 
20. To verify whether his average daily income (in thousands) is 4, a shopkeeper decides to 

take a sample of sales for 10 days. The amount he collected on these days are as 
follows. Check whether his belief is correct at 5% significance level. 

 2, 5, 4, 3, 4, 3, 3, 5, 3, 4.    (Scores : 4) 
 
21. Choose the correct answer : 
 In ANOVA the _______ of the two variations is the test statistic. 
 (a) Sum 
 (b) Product 
 (c) Difference 
 (d) Ratio   (Score : 1) 

 

22. (a) State the four assumptions of ANOVA ? 

 (b) Match the following :    

 (a) Assignable causes  (1) Several means  

 (b) Chance causes  (2) Random variation  

 (c) ANOVA  (3) Treatment variation  

 (d) Test for Variance  (4) Chi-square (Scores : 4) 



5020  11 P.T.O.  

 19, 20 ¶ü¯š»Ä¨°Þ ‡µ˜Ã°§²¹ ˆÒ ̧†©²˜²‰. 

19. ‰²È°‰¨²µ“ ƒ“¤°Þ œ“Ì°¤ questionnaire survey-Þ 

 (a) Maths ƒû£¯¶—¯  

 (b) Physics ƒû£¯¶—¯  

 †Ò questions-œ ̧‰°È°¤ „Ì¥Ä¨²µ“ ¿“°ð¯œÌ°Þ ˜Û¯¦¯¾°¤ responses 
ü²ªµ“ ¶üÜ¾²Ò² : 

Question (b) 
Question (a) 

Yes            No 
Total 

Yes 56 28 84 

No 10 6 16 

Total 66 37 100 
 ƒ· ¥Ê ̧subjects-¶œ¯“²¹ „á ˜¯§¸ã¥»¹ independent ‚¶—¯ †Ò¸ test µüÛ²‰ ? 
      (Ÿ¶̧‰¯ÜŸ̧  : 4) 

¿µßÃ°Þ 

20. Average daily income 4 (‚¤°¥Ì°Þ) ‚¶—¯ †Ò ̧verify µüÛ²Ò˜°œ¯¤° ˆ¥² 

shopkeeper 10 š°ªŸµÌ sample †“²Ì². ‚ values ü²ªµ“ ¶üÜ¾²Ò². 

¿¤¯¨²µ“ ª°«¼¯Ÿ¹ «¥°¤¯¶—¯ †Ò¸ 5% significance level-Þ check µüÛ²‰.  

 2, 5, 4, 3, 4, 3, 3, 5, 3, 4    (Ÿ¶̧‰¯ÜŸ̧  : 4) 
 
21. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ˆ¥²  ANOVA ¤²µ“ test statistics ¿˜°µú variations µú _______ ‚—̧. 

 (a) ˜²‰   (b) „˜̧ãÒ¹ 

 (c) ª»˜»¯Ÿ¹ (d) ¿œ²ã¯˜¹ (Ÿ¶̧‰¯Ü : 1) 

 
22. (a) ANOVA-¤²µ“ 4 assumptions ‡µ˜ß¯¹ ? 

 (b) ¶ü¥²¹ã“° ¶üÜ¾²‰ :    

 (a) Assignable causes  (1) Several means  

 (b) Chance causes  (2) Random variation  

 (c) ANOVA  (3) Treatment variation  

 (d) Test for Variance  (4) Chi-square (Ÿ¶̧‰¯ÜŸ̧  : 4) 
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23. Define Acceptance sampling plans. (Score : 1) 

 

24. Choose the correct answer : 

 Quality of a process is inversely proportional to its 

 (a) Mean 

 (b) Variability 

 (c) Duration 

 (d) Sensitivity (Score : 1) 

 

25. “The sales of school bags go up in June every year” is an example of   

 (a) Irregular Variation 

 (b) Random Variation 

 (c) Cyclical Variation 

 (d) Seasonal Variation (Score : 1) 

 

26. A company manufacturing Namkeens has set the weight of a packet as 250 gms. The 
manufacturer has a quality assurance system in which 10 samples of two packets each 
are taken at every one hour intervals and measured. The table gives the excess of 
weights in gms. of the samples tested. (A2 = 0.308)  

Sample 1 2 3 4 5 6 7 8 9 10 

Excess 
wgts 

2 3 1 5 2 4 6 1 1 2 

4 2 1 4 3 3 4 2 2 2 

 Calculate the CL, UCL and LCL values of the X– chart. (Scores : 3) 
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23. Acceptance sampling plans †Ò¯Þ †Ð ̧? (Ÿ¶̧‰¯Ü : 1) 

 

24. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 ˆ¥² process-µú quality ¿˜°µú _______ ¶œ¯“¸ inversely proportional ‚—̧. 

 (a) Mean 

 (b) Variability 

 (c) Duration 

 (d) Sensitivity (Ÿ¶̧‰¯Ü : 1) 

 

25. “†ß¯ªÜ¬ª²¹ school bags-µú ª°§Ô̧œ June £¯ŸÌ°Þ „¤¥²¹.” ƒ ¸̃ _______ 
µú „š¯®¥—£¯—.̧  

 (a) Irregular Variation 

 (b) Random Variation 

 (c) Cyclical Variation 

 (d) Seasonal Variation (Ÿ¶̧‰¯Ü : 1) 

 

26. Namkeens „Ê¯¾²Ò ˆ¥² company ˆ¥² packet-µú ¢¯¥¹ 250  gms ‚¤° 

ü°ÈµÔ“²Ì°¤°¥°¾²Ò². Quality assure µüÛ¯œ¯¤° 2 ª±˜£²á 10 sample-‰à 

†“²Ì² ã¥°¶«¯›°Å². ¿ª¤°Þ ‰Ê ¢¯¥Ì°µú ª»˜°¤¯œ¹ ˜¯µ© 

µ‰¯“²¾²Ò². (A2 = 0.308)  

Sample 1 2 3 4 5 6 7 8 9 10 

Excess 
wgts 

2 3 1 5 2 4 6 1 1 2 

4 2 1 4 3 3 4 2 2 2 

 X– chart-µú CL, UCL & LCL ‰Ê²ã°“°¾²‰. (Ÿ¶̧‰¯ÜŸ̧  : 3) 
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27. Draw the trend line by the method of semi average for the following data giving the 
sales of bikes for 9 consecutive years.   

Year 1990 1991 1992 1993 1994 1995 1996 1997 1998  

Sales 170 231 261 267 678 302 299 298 340 (Scores : 4) 

  

28. Choose the correct answer : 

 Time series analysis helps in 

 (a) Understanding past behaviour 

 (b) Predicting future behaviour 

 (c) Both (a) and (b) 

 (d) None of (a) and (b) (Score : 1) 

 

29. Calculate the Fischer’s index number for the given data : 

Item 
Base price Current price 

Price Quantity Price Quantity 

A 2 20 5 15 

B 4 4 8 5 

C 1 10 2 12 

D 5 5 10 6 

      (Scores : 4) 

_________________ 
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27. Semi-average method-Þ ˜¯µ© µ‰¯“²Ì°¥°¾²Ò data-¤°Þ œ°Ò²¹ 9 ªÜ¬µÌ 

µµ¡¾²‰¨²µ“ ª°§¸Ôœ¤²µ“ trend line ª¥¤¸¾²‰.  

Year 1990 1991 1992 1993 1994 1995 1996 1997 1998 

Sales 170 231 261 267 678 302 299 298 340 

      (Ÿ¶̧‰¯ÜŸ̧  : 4) 

28. «¥°¤¯¤ „Ì¥¹ µ˜¥µÇ“²¾²‰ : 

 Time series analysis ______ œ ̧Ÿ®¯¤°¾²Ò². 

 (a) Understanding past behaviour 

 (b) Predicting future behaviour 

 (c) (a) ¤²¹  (b) ¤²¹ 

 (d) (a) ¤²¹  (b) ¤²¹ ¿ß (Ÿ¶̧‰¯Ü : 1) 

 

29. ˜¯µ© ˜Ò°¥°¾²Ò data-Þ œ°Ò²¹ Fischer’s index number ‰Ê²ã°“°¾²‰ :   

Item 
Base price Current price 

Price Quantity Price Quantity 

A 2 20 5 15 

B 4 4 8 5 

C 1 10 2 12 

D 5 5 10 6 

     (Ÿ¶̧‰¯ÜŸ̧  : 4) 

_________________ 
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